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BB B iRl BREE
B BFELB B fr 8 BAE (85) sk

2015.7.30 A EE1EE 7 BB 1.1 At8JET =
2015.7.30 GHiEAEEE2ME 72 B B 2.3 271EART R
2015.7.30 GHiEAESE3EE Ze BB iy 1.3 41BHE S
2015.7.30 GHiEAEEEALE 72 B B 1.8 AEABT R
2015.7.30 GHilEAJESE5EE 72 B BN 1.7 YEABTE
2015.7.30 GHilEAJEEE6LE 72 BB iy <LOQ 3HORIE
2015.7.24 [ERAESE1EE 72 B BN 2.3 21BREIE
2015.7.29 JEREAEE2ME 72 B 1.0 ML E
2015.7.28 [EHEAEE3LE 72 B BN 1.2 VR
2015.7.29 [EHEARIE AR 22 BBy <LOQ 21EAFET &
2015.7.28 [EHEAEE5EE Ze BB iy <LOQ SIEAPET R
2015.7.28  [=HEAHEE6LE 72 BB iy 1.5 SIEAZETE
2015.7.29 [EHEAREETEE 2 BBy <LOQ 318BJET =
2015.7.27 2R AJEE8LE 72 B B 1.3 3HEBVETE
2015.7.28 | EFK[FFE1FE ZEE HAir 2.0 AR 5
2015.7.30 FEFHAEE2ME 72 B B 25 11EARTE
2015.7.28 | EHK[HEEIEE A== <X A 1.8 THEART 5
2015.7.28 £ AFHARE ZEEEAr 24 1A 5
2015.7.28  EHK[HEE5RE A== <X A 22 118BET 5
2015.7.30 FEFHAJHEOLE 72 B iy 1.5 1#8BET 5
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ARERBTFAERKES B ERNER

BB B iRl KEBEE
HEA BFa8 B fr 8 RORIME (85) b3

2015.7.30 FEHFAHFH7E ZZ BB 3.0 3tECE &=
2015.7.30 EHHAKGESE ZEE B 2.0 3t8CE &
2015.7.30 FEHHAKFHIME Z2 BB 2.6 3tEDET =
2015.7.30 EHUAE5E10FE ZEE B 2.0 3t8CE &
2015.7.30 HHEKEFE1E ZE B AL 1.7 612G =
2015.7.30 HEKREEH2ME ZEE B <LOQ 1418 GET =
2015.7.30 ZIHKEHE1E ZZ B AL 25 AEKET 5
2015.7.30 ‘“ZIFEARE 520 iz 2.1 15t G/K gk
2015.7.30 kEEREEHIE 1 Ze B fir <LOQ 121%FET 2
2015.7.30 /K EFESE21E Hfir <LOQ 151807k §%
2015.7.30 kK EEREHIEIRE B fir <LOQ 21T /KSE
2015.7.30 sk BEREHI AR B fir <LOQ 1418 AIK 5
s -

(1) B HMEEE AL - fe/FF (ug/l)

(2) t F A dHEEE R AT EAOK 2 B IR(E /10 ug/L
(3) LOQ : EHIR (§Y 1.0 ug/L)
(4)

WA T2 A 2= B AL - #ut

DL EER  REBERE T

TEa% ST BEALKERATH UK A
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